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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307218663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307218665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307218667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307218662 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307218663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307218665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af 2021 % S 1 AR YR T 9 T € o 2020 § o, 1 2020 7 2021 F SR F FIR A
o /e e &7
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307218667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072732
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307218668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307218668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307218669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307218669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307218671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307218671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307218672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307218672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307218673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307218673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307218676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307218676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307218677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307218677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307218678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307218678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307218679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307218679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307218680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :

(1) (A), (D) Only

(2)  (A), (B) and (C) Only

(3)  (B), (C) and (D) Only

(4) (A)and (B) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307218680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes § 9 4 O GFeqad 1 99R ¥ Gefed 8 ?

(A) dIfvees am
(B) WA T
(C) WHd for

(D) T HERid ol el
= feu U faspedi H § W& 3T & =9 HITaT
(1) Fad (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307218681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307218681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307218682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307218682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307218683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307218683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307218684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307218684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307218685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307218685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307218686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307218686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307218687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307218687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307218688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307218688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307218689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307218689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307218690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307218690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307218694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307218694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307218696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307218696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307218697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307218697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307218698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307218698 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307218701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307218701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd

(4) &ivHEErE (ZITEEER) T
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307218702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307218702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) 7% e o Iuferta W o e €
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307218703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307218703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307218704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307218704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307218705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307218705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (A), (B) (C)
() A () () D)
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(4) % (A), (D) ()
Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307218706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307218706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307218707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307218707 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072733
Question Shuffling Allowed : No

Question Id : 53307218708 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307218709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307218710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307218712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307218713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218708 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307218709 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307218710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307218712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307218713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Hindu Studies
Section Id : 533072246
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072734
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307218714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one is not suitable statement for Varna Vyavastha ?
(1) It mean caste system in Vedas

(2)  Social classes

(3) It means duties ol mankind

(4) It means appearance in Rigveda

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307218714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 T e T e F fod S T 82
(1) 3HH A9 A5 § A1 e 9 2 |

2) EH 74 Wi # | 9 | T

(3) THHI A9 HIH WMfd &F Fedl H B

(4) THH Y FrEg H Afavia F T

Options:

1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 53307218715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(In Bhagavad Gita) Lord Krishna Proclaims that of the Maruts [ am
(1)  Vayu

(2)  Agni

(3)  Marici

(4)  Paravaha

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e AT H AT o S #d € o S aredl | gl

(1 =%
2) @4
(3) AT
(4) Hdle
Options:
1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307218716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Samaveda is considered to be one of the primary source of :
(1) Coimnage

(2)  Music and Art

(3)  Textile Design

(4) Medicine

Options :
1.1
2.2
3.3
4.4



Question Number : 53 Question Id : 53307218716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qmee 1 e o | forme us grefaes € |/ ST € 2

(1) o o
(2) G F Fel
(3) I AT
4) =94
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307218717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the lollowing place Mahavir Swami was born ?
(1)  Lumbim

(2)  Sravasti

(3)  Kundagram

(4) Patna

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307218717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HerdR T@rHt &1 5 7 6 | T o w2 gan o ?

(1) g

)  grawn
(3) FUM
4) 92l

Options :



1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The path that requires one Lo [ollow the worldly Path to seek Salvation is identified as :
(1) Karma

(2)  Appaddarma

(3)  Pravrita

(4)  Nivriti

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et ¥ B 3 W ot TR it for e o e e e W o S w0 A
(1) 9

Q) #%

(3) waf

<

() Faf

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Only fools and not wise people speak of jnana and Karma as opposed; really they are one, is stated in :
(1) Jnaneshwari

(2)  Shvelashvatara

(3) Kaivalyapada

(4)  Bhagavadgita

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 fv 5§ o ) T € o et g e, T ST e, 1 G o o R oo 2
R Mg H A e

(1) et

Q) VeINE

(3) FaEATE

() e

Options:
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307218720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The source ol the earliest lorm of the Karma doctrine may be traced (o ;
(1) Rational unilorm solution to problem ol lile

(2)  Mantras uttered in the correct accent at the sacrilices

(3)  Anillusory perception ol reality

(4)  Anunseen power resides in the cause which produces the effect

Options :
1.1
2.2
3.3



4.4

Question Number : 57 Question Id : 53307218720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

F1 fagia % s w9 %1 & e § 4 fad ger o aar €2
(1) S T GEEq 1 difcheh 9 Ueh ©9 HHIEM |

(2) IF % THY Hel IERU § =g °H |

(3) T HT YTHE 1Y |

(4) UG 3 FA T og H UF 1999 wfe Fram Fdt €

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Buddha identifies Dharma with :
(1) Four Noble Truths

(2)  Ksanabhangavada

(3)  Pratityasamutpada

(4)  Shinyavada

Options:
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

985, e ¥ GaAfYd € ;
(1) =R ™ T
2) &HUYITETS

(3) Wdcagges

(4) JI4dlg

[~



Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307218722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the soul there is neither birth nor death at any time. He is not come into being. He is unborn, eternal and
primeval. This statement proves that.

(1)~ The soul takes birth in different species

(2)  Any thing which has birth also has death

(3)  The soul becomes old, as the body does

(4)  The soul sometimes remain conscious and somelime remain unconscious
Options :

1.1

2.2

3.3
4.4

Question Number : 59 Question Id : 53307218722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 7 9 7 2 € AR R e @ €| e aafeel R el €, 7 e, YW 4R enfep €
5 T THIOT HT1 §

(1) e fofort et & 50 ot €|

() former off 570 gon & S ey of 2 €

() o o, T A T @ o ¢l

() S E T H T © S ) e T €

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307218723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In Jainism, the aim ol life is to attain Nirvana or moksha lor which one has Lo :
(1)  practice ol non - violence

(2)  renounce the world

(3)  believe in the Jains

(4)  lollow Lhree jewels and [ive vows

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307218723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S o T Sited o1 s Fafor steren Hier g 7 © foaes fog 3
(1)  AfEH1 1 A= F

2) GG Al

3) 59 4 ¥ favam v

(4) 9 T SR U Wl 1 9T

Options:

1.1

2.2

3.3
4.4

Question Number : 61 Question Id : 53307218724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who 1s the [ounder of Sankhya 7
(1)  Baldev Vidyabhusan

(2) Kanada

(3) Kapila

(4)  Vishwamitra

Options :
1.1
2.2
3.3
4.4



Question Number : 61 Question Id : 53307218724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e F TFE T & 7
(1) weed faemymo

(2) RS
(3) g
4) Tergenfu=s
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307218725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The sky is a product of :
(1) Touch

(2)  Sound

(3)  Smell

(4) Taste

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307218725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3RS o1 9fd A T8 ©

(1) 99
(2) TR
(3) T

(4) @5

Options :



1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the conclusion of the text 1s accepted, and other conclusions will naturally follow is called 7
(1) Sarvatantrasiddhanta

(2)  Pratitantra siddhanta

(3)  Adhikarana siddhanta

(4)  Abhyupagama siddhanta

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
o e 3 5 o el 2 e &, o o2 el v 9 % o7 R €, 9 8 o e €7
(1) waw g
() i g
(3) v g
4)  FTm fagia
Options :
1.1
2.2

3.3
4.4

Question Number : 64 Question Id : 53307218727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the lactor/s is that leads one Lo gain knowledge :
(1) pramala

(2)  pramata, prameya

(3)  pramata, prameya, pramana

(4)  pramata, prameya, pramana, prama

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 9 4 3 FwRe (V) ggar wifae g safed I@ o 31 ©
(1) oI

(2) 9HEI, THY

(3) HWEI, THE, FH

(4) I, THS, THOT, FH

Options:

1.1

2.2

3.3
4.4

Question Number : 65 Question Id : 53307218728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(a)  He who knows the sell crosses sorrow
(b)  All human bondage i1s mithya

The above example, 1s a case of :

(1)  Anumana

(2)  Anuplabdhi

(3) Upamana

(4)  Arthapatti

Options :
1.1
2.2



3.3
4.4

Question Number : 65 Question Id : 53307218728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(a) ST TE =l ST S =8 §: ohl YN R Al © |
(by T OHEE F9F e €

U e A H H F#n e ?

(1) SHH

(2) ITIAH

(3) 3YHH

@) Agata

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The school ol that does not accept Upamana as an independent source of Valid knowledge :
(I) Nyaya

(2)  Mimamsaka

(3)  Buddhism

(4) Charvaka

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



et o 9 S i foram e UM 1 39 I & S B & B W T g2
(1) =4

(2) HHEH
(3) WG 4
4) TEF
Options :
1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307218730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Hindu knowledge tradition, under the process of organising the knowledge the interpretation of the essence of
Sutra of any subject is called :

(1) Bhéshya

(2)  Comment (Tippani)

(3)  Nature (Vritt)

(4)  Method (Paddhati)

Options:
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307218730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T -0 ¥ 9 1 HT e e 1 Wkl & S, Toreit forwe o 3 o1 sl e el v
feeaferfim  § 1 %1 1 & 7
(1) =

Options :
1.1



2.2
3.3
4.4

Question Number : 68 Question Id : 53307218731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Hindu knowledge (radition ascerlaining the meaning of a thing, sentence or scripture etc. through Upkram,
Upsamhir etc. six types of methods 1 called :
(1)  Sutra

(2) Tantra

(3)  Shravan

4) Tarka

Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307218731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fe, -] 3GH, SR e 3 Wabm % forg ® fovelt o, v 1 s e, < e 1 fvrm
O F Fea ¢/

(1) ¥
(2) W4
(3) a0
4 T
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307218732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In Chhandogya Upanishad while explaining about nature of Brahma no proof has been given - which discipline of
Shravan - Vidhi 1s this ?

(1)  Abhydsa

(2)  Apoorvald

(3) Fala

(4)  Upsamhira

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307218732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT TG B el o T 1 G U 3 fod o S e 7 fo e % - e spam-fafir
- e 27

(1) dA99
) S
3) %d
(4) TR
Options:
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307218733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[l a practitioner ol Ayurveda, alter understanding the digestive system, perlorms diagnosis and treatment of a
concerned disorder, then which anubandh of Anubandh Chatushtayait will be ?

(1)  Adikari

(2)  Vishaya

(3)  Sambandh

(4)  Prayojma

Options :
1.1



2.2
3.3
4.4

Question Number : 70 Question Id : 53307218733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afc A STaE F1 AT T 01 ) TR, 39 TR (o a1 e N SR o € A 9%
S 29§ F-91 S 3

I ean

o) fama

(3) W

4) WA

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary criticism of structuralism ?

(1) It lacks scientilic ngor

(2) It relies too heavily on behaviorism

(3)  Itignores the role ol culture and individual diflerences

(4) It overemphasizes the role ol the unconscious mind

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TEAENE ot W STer=mn & © 2

(1) 99 STF FIA H SA9H T |

(2) Ie HFERARE T AF [ T

(3) I GERfa 9 Gufaas ool 1 fHeh! ST 3Ual AT 2|
4) I% oTaad fod &1y | sifus aa e 2
Options :

1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 53307218735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The German philosopher wrole that India with its psychology, religion, caste system and holy-men
existed in a dream-like slate.

(1)  Karl Marx

(2) GW.F. Hegel

(3)  Sigmund Freud

(4)  Walter Benjamin

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R foren e o o, e, wift o iR T W % 9 SR 0 e W
T & &9 ¥ afiem ¥ g

(1) e e

Q) ETIE

(3) fare e

() e S

Options :

1.1

2



2.2
3.3
4.4

Question Number : 73 Question Id : 53307218736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“I have traveled across the length and breadth of Tndia and T have nol seen one person who is a beggar, who is a

thief. Such wealth T have seen in this country, such high moral values.”" This statement was made by.

(I)  Lord Comwallis

(2)  LordDalhousie

(3)  Lord Macaulay

(4)  Lord Hasting

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307218736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"R SR -G T AT T S e o e s < T < 1 3 o R 3 e s
o e < 71 7% e f R e

(1) e FHare™

Q) E Sewm

(3) T WA

4) e

Options:

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 53307218737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Sociologist delined religion as a unilied system ol beliels and practices related to sacred (hings ?

(1)  Karl marx
(2)  Emile Dukhiem
(3)  Talcott Parson

(4)  Maclver and Page

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218737 Question Type : MCQ Option Shuffling : No

8 & o T e 4 o o ofo avqell § afom fovamel @ wenadl o1 iR e o w9 H

yfei feren 7
(1) el W
) il gEm
(3) AT TH
(4) W d T
Options:
1.1

2.2

3.3
4.4

Question Number : 75 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218738 Question Type : MCQ Option Shuffling : No

In which of the following metre (Chhand) the *Schlokds’ of Valmiki Rimayan are mainly composed ?

(1) Trishtubh
(2)  Anushtubh
(3) Indravayra
(4)  Upendravajra

Options :
1.1
2.2



3.3
4.4

Question Number : 75 Question Id : 53307218738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e THEY 3 ekl i To TEEy 9 g 9 § =1 T 82
(1) Prey

=

2) FTT=Y
(3) ZEael

"

(4) SUESS
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which ol the classical Sanskrit literature Text is not based on Ramayana 7
(1)  Raghuvansham

(2)  Jana Kiharanam

(3)  Mahavircharitam

(4) Kumarsambhavam

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



sreiiferfaa afecacaed § & e T sl Yo 7ot & ?

() TRH
(2) SAeRIEOTH
(3) WHEEERaH
(4) SHHRNHEREH
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307218740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who Killed Kumbhkarana in Rama - Ravina batlle 7
(1) Hanuman

(2) Rama

(3)  Sugriva

(4) Lakshman

Options:
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307218740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 Fg | H9ehvl okl fohe 71 ?

(1) ®IAH
(2) 1H
(3) e
(4) od&HY
Options :
1.1

2.2

3.3



4.4

Question Number : 78 Question Id : 53307218741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Poet Kamba has translated Valmiki Ramayan in which ol the [ollowing language ?
(1) Malayalam

(2) Tamil

(3) Telugu

(4) Kannada

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

areHifeR THEYT 1 FTE Hig 3 BE-G 9 H T791e fohar § 2

(1) HcHTBH
(2) diFe

(3) den

(4) ©h—iS

Options:

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307218742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who succeeded in stoping Janamejay [rom destroying all the serpents in the World 7
(1)  Brihaspat

(2)  Asteekam

(3)  Lord Krishna

(4) Indra

Options :



1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307218742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST ol fowd § |91 ol 72 & | U4 | 99 § 9 HiH Tl g7 ?
(1) Feefd

™~

(2) HAXRH
(3) WEM FO0
4) ¥
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307218743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vikram Samvat is the oflicial Calendar of ;

(1) India

(2)  Myanmar

(3)  Nepal

(4)  Sri Lanka

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307218743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fosrm gaa fe1 5 4 forga Tsranrg heiet €2

(1) ¥Hd
2) TR
(3) 9
(4) e
Options :
1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307218744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Javanese version of called Bharatyudha.
(1) Ramayana

(2)  Mahabharat

(3)  Shiva Purana

(4) Devi Purana

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307218744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

11 5 9 fopmeh a1 ael T Tl 9Rd 4§ Fel Sl @ 7

(1) HET
(2) HelMRd
(3) fera quor
(4) <& g

Options :

1.1

2.2

3.3



4.4

Question Number : 82 Question Id : 53307218745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vidur Niti 1s described in which Parva ol Mahabharat 7
(1)  Anushasan Parva

(2)  Shanti Parva

(3)  Sabha Parva

(4) YdyagaParva

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307218745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & e # 9 form vd o fage Hifa s oo 82

(1)  STEA 94
2) wifd ve
(3) I 94
(4) F=NT 9H
Options:

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307218746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one ol the following words 1s Akaranta ?
(1) Rama

(2) Jagal

(3) Matn

(4) Lata

Options :



1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307218746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAefafgs § 9 -1 952 TR © 7

(1) {H
(2) S
(3) Hig
(4) dl
Options :
1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307218747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one is the Sanskrit word for "33 ?
(1)  Trayodash

(2)  Trayastrinshat

(3) Tndash

(4)  Trayovinshatih

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307218747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘33’ o TeTU H&Rd e -9 8 ?

(1) TIEY
2) FafEe
(3) TEw
(4) TAIfa9nta
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307218748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the lollowing senlences passive voice has been used ?
(1)  Janaken Sah Pulrah Vidyalayam Gachhati
(2)  Bhakth Devam Namati
(3)  Spardhiyam Dhavakai'h Dhavitam
(4)  Balaken Granthh Pathith
Options :
1.1
2.2

3.3
4.4

Question Number : 85 Question Id : 53307218748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

srenferfad sl o | wiarss w9 forg g 7 &2
(1) SFd | q3: foemed T=sfd |

2) Yea: <9 i |

(3) Yl dTeeh: Hfea |

(4)  STeTHRA TR gfad: |

Options :

1.1

2.2
3.3



4.4

Question Number : 86 Question Id : 53307218749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which composition (Samasa) has been used in Adhihari term ?
(1)  Tatpurush

(2)  Avyayibhiv

(3) Karmdhiray

(4) Bahuvrihi

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307218749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘el S R FH-gTgAE § 7

(1) dcgey

(2) TFEIYE
(3) FHHURF
(4) wgsiife

Options:

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307218750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which form of Drama, the hero 1s a Brahmin or Trader ?
(1)  Nataka

(2)  Samvakar

(3) Prakaran

(4) Bhana

Options :



1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307218750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g ®ue yHR H e faw steran sfteg 2 8 2

(1) A<=
(2) HHEERR
(3) HehiU]
(4) HM

Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307218751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who 1s the poel of poetry text Saundaranand ?
(1) Kihdasa

(2) Hala

(3) Asvaghosa
(4) Bhasa
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307218751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



diete 29 e F1 Ffd FH ¢ ?

(1) HifcTeTd
(2) ®ld
(3) YT
(4) HH
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307218752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Goverdhanarhath established by Adya Shankaracharyais located at :
(1) Badari

(2) Puri

(3)  Shringen

(4) Dwarka

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307218752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

371 Y= B fud Madaas wel frug €2

(1) ==&l
2 9h
3) g
(4) &I
Options :
1.1
2.2

3.3



4.4

Question Number : 90 Question Id : 53307218753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The following Shloka is in which metre (Chhand) ?
Santikiram bhujagéayanar padmanibharh suresarh,
Viswadharar gagansadrsarh meghavarnam Subhangam
Laksmikantirh kamalanayanarm vogibhirdhvanagamyam,
Vande visnurih bhavabhayahararh sarvalokaikanatham.
(1) Mandakranta
(2)  Sikharini
(3)  Vasanta-tilaka
(4) Upajati
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307218753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siferfEa veirer o #H-91 g2 82

forgany® TEEY Heel YT |
AGHTHRT THHATAA AT AR
g o] YavHel Facihe g | |
(1) HERI

2) forafof

(3) FE=AfdcTeR

(4) SIS

Options :

1.1

2.2

3.3

4.4



Question Number : 91 Question Id : 53307218754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which position 18 held by the Natyayikas regarding the relation between Pada & Padartha ?
(A) Vyanjana

(B) Lakshna

(C) Gauni

(D) Sakti

(E)  Khyati

Choose the correct answer from the options given below :
(1) (A), (B) & (C) Only

(2)  (B), (C) & (D) Only

(3) (B) & (D) Only

4) (A) & (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 53307218754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

72 9 Ye1d % o9 & Gee & g d i # e 0§ FH-an 9 sefefa g2
(A) S

(B) A&rom

(C) T

DIRIES]

(E) @Afd

e feu U feeredl | WE ST 1 = HfA
(1) &9 (A), (B) 3 (C)

2) %94 (B), (C) ¥R (D)

(3) e (B) 3R (D)

(4) 9 (A) 3R (E)

Options :
1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 53307218755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following stalements accurately describes Karma phala ?

(A)  Karma phala refers o the consequences of our actions

(B)  Kharma phala only alfects our present experiences and not our [uture
(C)  Karma phala is unrelated o the belie[ in reincarnation

(D)  Karma phala is solely determined by our actions in our current life
(E)  Karma phala impacts both our present and [uture circumstances, shaped by our actions across lifetimes.
Choose the correct answer [rom the options given below :

(I) (A),(B), (C), D). (E)

(2)  (A) & (D) Only

(3)  (A) & (E) Only

(4)  (A) & (C) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307218755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o1 9 9 - o o W W 90 e

(A) T 1 e T A % oftom €

(B)  FiThct oholct EHR ST o Sl 1 Jfem 0l & 4R g o 1 i |

(C) T o fovar & FHwa %1 FE HaH T ¢

(D) T T T A 4 freifa S g

(F) 9 &R Svm U9 wfaw 1 uftfefr 9 vofen e & 5 g e o1 o 0l | ww o
gl

7 feu T foraredl o © WE I T 0

(1) (A),(B), (C), D), (B)

Q) A (A) 3 D)

() A (A) I (E)

(4) ¥ (A) A (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 53307218756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange lower planets in ascending order :
(A) Talatala

(B) Vitala
(C) Mahatala
(D) Rasatala
(E) Atala

Choose the comrect answer [rom the options given below :
(1) (E), (B) (D), (A) (C)
(2)  (A), (B) (C). (D) (E)
(3) (E), (A) (B), (D) (C)
(4) (D), (E) (C), (B) (A)

Options:
1.1



2.2
3.3
4.4

Question Number : 93 Question Id : 53307218756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frAfafiaa oiekl 1 37 9ed 0 ¥ fad :

(A) dade
(B) faea
(C) e
(D) THEEA
(E) #HAdd

=1 fSu T faehedl § | el I 1 =9 hifad
()  (E). (B) (D). (A) (C)
(2)  (A), (B) (C), (D) (E)
(3)y  (E), (A) (B), (D) (C)
(4) (D). (E) (C), (B) (A)
Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 53307218757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the lollowing elements in the ascending order ol their occurrence.
(A) The sky

(B) The light

(C) The water

(D) The Earth

(E) The Air

Choose the comrect answer [rom the options given below :
(1)  (B), (A) (C), (D) (E)

(2)  (A), (B) (C), (D) (E)

(3)  (A), (E) (B), (C) (D)

(4) (B), (A) (E), (D) (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 53307218757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 39T Suftafa & Ted %9 § o .
(A) SR

(B) Rl

(C) S (319)

D) el

(E) d9i¥q

= feu 7o fasedi # 9 |E S F1 999 FI9
(1) (B), (A) (C), (D) (E)

(2) (A), (B) (C), (D) (E)

(3)  (A), (E) (B), (C) (D)
(4) (B), (A) (E), (D) (C)

Options :
1.1
2.2
3.3



4.4

Question Number : 95 Question Id : 53307218758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which ol the following are the types ol non-perception ?
(A) drstarthapatt

(B)  karana anuplabdhi

(C)  srutarthapatti

(D)  svabha anuplabdhi

Choose the correct answer [rom Lhe optlions given below :
(1) (A) & (B) Only

(2) (A) & (C) Only

(3) (B) & (D) Only

(4) (B) & (A) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307218758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAmfafaa 5 9 M ST & YR & ?
(A)  FE=Iafa

(B) TRIU ST

(C)  ganedf

(D) &Y ST

= feu e fasredi o | Wal ST 1 =I5 Hifeu
(1) & (A) 3R (B)
(2) FIA (A) HR (O)
(3) e (B) 3R (D)
@) Fad (B) 3R (A)

Options :
1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 53307218759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the lollowing statements 1n correcl sequence :

(A)  Thus hill has smoke which is mnvariably associated with lire
(B) This hill has lire

(C) Whatever has smoke has [ire, eg. an oven

(D)  Therelore this hill has lire

(E) Because il has smoke

Choose the correct answer [rom the options given below :
(1) (C), (B), (A), (D), (E)

(2) (A), (E), (C), (D), (B)

(3)  (B), (E). (C). (A), (D)

(4)  (C), (E), (B), (A), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307218759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafaa o =1 98 w9 § o
(A) TH WSl H YT © S fAfvea w9 9 e § gefta ¥
(B) THTRISH M T
(C) ST off ¥31 €, el 31T ¥; S-37eH |
(D) FHfeIY 39 Yerg § 211 €|
(E) Fifeh 30 31 &
=1 feu TTu fomredi § 9 W&l 3 =G Ff9C ;
(1) (C), (B), (A), (D), (E)
2)  (A), (E), (C), (D), (B)
(3) (B), (E), (C), (A), (D)
(4)y (C), (E), (B), (A), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 97 Question Id : 53307218760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Bhagwadgilta, the sequence of the destruction of memory 1s :
(A)  Desire ol worldly pleasure

(B)  Thinking ol worldly pleasure

(C) Anger

(D)  Attachment to worldly pleasure

(E) Tlusion

Choose the comrect answer [rom the options given below :
(1)  (B), (D), (A), (C), (E)

(2)  (A). (C). (D), (E), (B)

3y (B), (A), (C), (A), (E)

(4)  (A), (B), (E), (C), (D)

Options:

1.1

2.2
3.3



4.4

Question Number : 97 Question Id : 53307218760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WSl & STTER T W1 8 10 FN €7
A) Tomm =i z=1

(B) Torwz =r1 fod

(C) hi¥

(D) faug ¥ amafsE

(E) W=

i fou T fased § | Wl 3T 994 Fifad
(1)  (B), (D), (A), (C), (E)
(2)  (A), (), (D), (E), (B)
(3) (B), (A), (C), (A), (E)
(4) (A). (B), (E), (C), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 98 Question Id : 53307218761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyiya Darshan Apvarga is attained through removing which of the lollowing ?
(A) Birth

(B)  Sorrow

(C) Demeril

(D)  False - knowledge

(E)  Nature

Choose the correct answer [rom the options given below :
(1) M), (C), (B), (A), (B)

(2) (B), (A). (B), (C), (D)

(3)  (A), (C). (D). (E), (B)

4) (D), (A), (C), (E), (B)



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307218761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T €Y o STTER HHN: fFaeh g2 W der 1 9t eidi & ?
(A) S

(B) 4@

(C) T

(D) e I
(B) wgfm

= feu MU fawedi § 9 W@ ST 1 99 Hifa
(1) (D), (C), (E). (A), (B)
(2)  (B), (A), (E). (C). (D)
(3)  (A), (C), (D), (E), (B)
4y (D), (A), (C), (E), (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 99 Question Id : 53307218762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the loreign Travellers to India in ascending order :
(A) Fa-Hien

(B) Marco Polo

(C) Nicolo Conti

(D)  Huien Tsang

(E)  Abdur Razzak

Choose the comrect answer [rom the options given below :
(1) (A), (B), (C). (D). (E)

(2)  (C), (B), (A), (E), (D)

(3) (E), (A), (D). (B), (C)

(4)  (E), (C), (A), (D), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 53307218762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R =T1e facel i &1 31El %0 | oqafed Hife
(A) RI-Ted

(B) HERI 9l

() TAepra st

(D) &I M

(B) 3To¥ Tllh

i fou T fashed § 9 Wel ST F 997 FifT

(1) (A), (B), (C), (D). (E)

(2) (C), (B), (A), (E), (D)

(3) (E), (A), (D), (B), (C)
4) (E). (C), (A), (D), (B)

Options:
1.1
2.2
3.3



4.4

Question Number : 100 Question Id : 53307218763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Kaands ol Valmiki Ramayana in correct sequence :
(A) Kishkindha Kand

(B) Ayodhya Kand

(C) Sunder Kand

(D)  Aranya Kand

(E)  Yuddh Khand

Choose the correct answer [rom the options given below :
(1)  (B), (C), (A), (D), (E)

(2) (D), (B), (A), (C). (E)

(3)  (B), (D), (A), (C), (E)

@) (C), (A), (B), (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307218763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SeHIR THE o H1US] 1 FATTER fafay

(A) TwferreRTe
(B) STIEATHIS
(C) YHsw&lg

(D) SUIHE
(E) IEHES

= fau 7o fasedi § ¥ |El W F T99 FIf9
(1) (B), (C), (A), (D), (E)
(2) (D), (B), (A). (C), (E)
(3) (B), (D), (A), (C), (E)
(4) (C), (A), (B). (E), (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307218764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange lollowing in Chronological order :
(A) Abhimanyu was killed

(B) Bhimakilled Duryodhana

(C) Coronation ol Yudhishtir

(D)  Balaram began Tirthayalra

(E)  Vyasamel Dhitarashira

Choose the comrect answer [rom the options given below :
(1) (B), (A), (D), (E), (C)

(2) (D), (B), (A), (E), (C)

(3) (D), (E), (A), (B), (C)

4) (A), (B), (B), (D), (C)
Options:

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 53307218764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1 il FIHATER AT FHITIT
(A)  SAWH= =1 9 B3
(B) ™ 9 gaiYA 1 9w feman |
(C) Ffsfet 1 Tsafaus |
(D) WM ¥ TSI 3TRY o |
(E) =49 H Jaue § 42 o |
= feu v fasedi § 9 WE I F 994 Fif9
(1)  (B), (A), (D). (B), (C)
(2) (D), (B), (A), (E), (C)
(3) (D), (E), (A). (B), (C)
(4) (A), (B), (B), (D), (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 102 Question Id : 53307218765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in Ascending order :
(A) St Parva

(B) UdyogaParva

(C)  Svargarohan Parva

(D) Bhisma Parva

(E) AdiParva

Choose the correct answer [rom the options given below :
(1) (A), (B), (C), (D), (E)

2) (E), (B), D) (A), (C)

(3)  (B), (D), (E), (A), (C)

(4) (D), (BE), (B), (A), (C)

Options:

1.1

2.2
3.3



4.4

Question Number : 102 Question Id : 53307218765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 =1 oTE %1 H safied it
(A) T TE

(B) &M e

(C) Ty g4

(D) T 9

(E) afrfe 9al

= Teu 7o fasredi § 9 Wel 3 &l 999 HifaQ
(1) (A, (B), (C), (D), (E)
2)  (E), (B), (D), (A), (C)
(3) (B), (D), (E), (A), (C)
4) (D), (E), (B), (A), (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 103 Question Id : 53307218766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Write down the characters of ‘Jash' Pratyahar in a sequence 7
(A) das

(B) bad

(C) das<

(D) gaT

(E) jasl

Choose the correct answer [rom the optlions given below :
(1) (E), (C), (D), (B), (A)

2)  (B). (C), (A), (E), (D)

(3) (E), (B), (D), (A), (C)

4) (D). (E), (A), (C), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 53307218766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S9!’ eeR % gl il hH 9 fafEy |
(A) ©
(B) o
© <
M ™
(E) =

9 feu 7o faed § 9 W& 3T F 994 FfAU
(1) (E), (C). (D), (B), (A)
(2)  (B), (C), (A), (B), (D)
(3) (E). (B), (D), (A), (C)
(4) (D), (E), (A), (C), (B)
Options :
1.1
2.2



3.3
4.4

Question Number : 104 Question Id : 53307218767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the lollowing words in a sequence on the basis ol inflection :
(A) Ramilt

(B) Ramena

(C) Ramah

(D) Ramaya

(E) Ramam

Choose the correct answer [rom the options given below :
(1) (C), (E), (B), (D), (A)

(2) (B), (C), (B), (A), (D)

(3)  (A), (D), (B), (E), (C)

(4) (C), (B), (D), (E), (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 104 Question Id : 53307218767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AefafEa uei =i faufsa & snarR | %9 9 fafau .

(A)
(B)
(C)
(D)
(E)

THI
T

11H:
THEH
e

= feu v fasedi § 9 WE I F 994 Fif9

(1)
(2)
(3)
(4)

(C), (E), (B), (D), (A)
(E), (C), (B), (A). (D)
(A). (D), (B), (E), (C)
(©), (B), (D), (E), (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307218768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Saints in Chronological order [rom ancient o modern :
(A)  Chaitanya Mahaprabhu

(B) Basavanna

(C) Namdev

(D) Kabir

(E) Tulsidasa

Choose the correct answer [rom the options given below :

(1)  (C), (D), (A), (E), (B)
(2)  (A), (C), (D). (B), (E)
(3) (D), (A), (E), (A), (B)
(4)  (B), (C), D), (A), (E)
Options:

1.1

2.2

3.3



4.4

Question Number : 105 Question Id : 53307218768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl 1 FATTER Y4 9 3ar= q 5 dq=y ;

(A) == HRTIY
(B) Sw@amo
(C) AHed

(D) AR

(E) Joie™
= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) (C), (D), (A), (E), (B)
2) (A), (C), (D), (B), (E)
(3) (D). (A), (E). (A), (B)
(4) (B), (C), (D). (A), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 53307218769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Jainism the seeker must practice :
(A) Ahimsa

(B) Asteya

(C)  Akrodha

(D)  Upjivya

(E)  Aparigraha

Choose the comrect answer [rom the options given below :
(1) (A), (B), (C) Only

(2)  (B), (C). (D) Only

(3)  (A), (D), (E) Only

(4) (A), (B), (E) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307218769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S o o TR 1 A o S1avd 31Ty Al 9feu

(A) @feq
(B) 3T&i™
(C) TRy
(D) JYSIA
(E) 39RTe

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1) == (A), (B), (C)
(2) A (B), (C), (D)
(3) ad (A). (D), (E)
4) Had (A), (B). (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307218770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the sins committed in the concept ol religious matters :
(A) Take away wealth

(B) Breaking others ears, hands & legs

(C) Blasphemy

(D)  Being angry even alter worshipping God

Choose the correct answer [rom Lhe optlions given below :
(1) (A) & (C) Only

(2)  (A) & (D) Only

(3) (B) & (C) Only

(4)  (C) & (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 53307218770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

itk Wehfd k1 9RON § foFQ 7T 9rdi 1 TeaH 1

(A) o7 = D o
(B) 37 o &I, B1eM 3R U =1 qrEA1
(C) zufHer)

(D) 3¥eR %1 Y1 FH F 918 o FIfer &
= feu 7o fasedi # 9 |E S F1 999 FI9
(1) 9 (A) 3R (C)

(2) A (A) 3 (D)

(3) %Fd (B) 3 (C)

4) e (C) 3R (D)

Options :
1.1
2.2
3.3
4.4




Question Number : 108 Question Id : 53307218771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One can visit [ollowing cities to get the utmost peace (moksha).

(A) Kashi
(B) Kanchi
(C) Dwarka
(D)  Upain

(E) Mathura

Choose the comrect answer [rom the options given below :
(1) (A) & (B) Only

(2)  (A), (B) & (C) Only

(3) (B), (D), (E) Only

(4) Allabove

Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307218771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sifew wiifa (wer) g 0 % fore safaq fom oredl # o1 w@ar 2

(A) hTEfl
(B) T
(C) B
D) F=H
(E) HEU

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1) 9 (A) 3R (B)

(2) W (A), (B) 3T (C)

(3) HaA (B), (D) 3T (E)

4) I T

Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 53307218772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pratyaksha and Anumana as a valid means ol knowledge 1s accepled by :
(A) Mimiamasa

(B)  Yoga

(C) Buddhism

(D)  Vaisesika

Choose the correct answer [rom Lhe optlions given below :

(I  (A), (B), (O), (D)

(2) (D), (C), (B). (A)

(3)  (A), (C). (D) Only

(4)  (A), (B), (D) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307218772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yede] U STHTE Sl FT9 6 Y0 AT & ) W SR R
(A)  HEET

-

(B) &M
(C) Sigyd
(D) 9

= fou T foskhedl § | Wel 3 ol 994 Hif
(1) (A). (B), (O), (D)

2) (D), (C), (B), (A)

3) a9 (A), (C), (D)

4) FEA (A), (B), (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307218773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference Lo Tantrayukti in Hindu knowledge tradition ?
(A)  The method of formulating Scientific and theoretical Texts

(B) Prayojana, Adhikarana, Yoga, Uddesh Tantrayuktiyan are used in the basic structure of the text
(C)  Arthashastraof Kautilya describes 32 Tantrayuktivan

(D)  Yoga darshan also describes Tantrayukti

(E)  Tantrayukti named as Vidhan 1s related to the contents of the text.

Choose the correct answer [rom the options given below :

(1)  (B), (C), (D) & (E) Only

(2)  (A), (B), (D) & (E) Only

(3) (A), (B), (C) & (E) Only

(4) (A) & (B) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307218773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feg FA-weem & werfeR o e § F-8 FoE 9 €
(A) ST 3R Faifas i % Fmio i wsf

(B) e, SHferhaor, 2, SR ARl TR T e A o g el
(C) Fifeea Sefom ¥ 32 TRl 1 9 2

(D) ANEYH W S iRl ) 9uE g

(E) faum e aemfad & e 7 i foma-gt 8
e feu U fosred # § Wel 3T T4 HfoU ;

(1) & (B), (C), (D) 3R (E)

(2) ¥ (A), (B), (D) ¥R (E)

(3) 9 (A). (B), (C) 3 (E)

4) Fad (A) & (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307218774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing statements are supported by minutes of Macaulay ?

(A) The cause of English Education in India Territories

(B)  To prepare a class of people who can occupy the subordinate positions in the colonial Government
(C) Inliterature on education history, it led to the origin of the lerm upward [ilteration theory

(D)  The education was meant for westernizing the elites who in turn could influence the masses.

(E)  Torelorm India [rom underdeveloped to developing nation

Choose the correct answer [rom the options given below :

(1) (A), B), (C) Only

(2)  (A), (B), (D) Only

(3)  (B), (C), (D) Only
b (

(4) (C), (D), (E) Only
Options :
1.1

2.2



3.3
4.4

Question Number : 111 Question Id : 53307218774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frer & 9 ot sporl 1 qfte T a1 fooafirdt (i) @ € €7

(A) SRS & H ofirsh foren 1

(B) Afel o TR o ) AR A S AR AR 6 aAufy 1 W e |
() Wferk sfrery Taieh Wfecy, T el fepey firgia 1 3t &
D) 08T 1 SRYE GYiaerl 1 YfveHE o, S S B yafad o we
(E) WA %l T sAforfae T2 § foshmaviil T2 W QR 9 |

4 feu U fomed H 4 Tt ST F T ¢ ;

(1) ad (A), (B), (C)

(2) ¥ (A), (B), (D)

(3) & (B), (C), D)

4 ¥ (C), D). E)

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When Ravana was Kidnapping and taking Sita with him mother Sita thrown down some of her ornaments in the
way, who gave those ornaments to her ?

(A) Dashrath

(B) Kausalya

(C) Ahilya

(D)  Anasiiya

(E) Ram

Choose the comrect answer [rom the options given below :
(1) (A) & (B) Only
(2)  (E) Only

(3)  (C) & (D) Only
(4) (D) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 53307218775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 1 TG ek o S T o, T A e A 0w i e, 3 39 o few o7
(A) TRY

(B) N

(C) Hfee

D) A

(E) ™

el T U foered © 9 W 3 A1 T I ;

() % (A) 3R (B)

@) 94 (D)

Options :
1.1



2.2
3.3
4.4

Question Number : 113 Question Id : 53307218776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The subject of the Bhagavad-gita entails the comprehension of
(A) Ishvara

(B) Jivas

(C) Prakrti

(D)  Karma

(E) Kala

Choose the correct answer [rom the oplions given below :
(1) (A), (B), (C) Only

(2)  (B), (C). (D) Only

(3) (C), (D), (E) Only

(4)  (A), (B), (C), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 53307218776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



aagar =1 | 9 foF fawei &1 sy =t €2

(A) TTR
(B) o
(C) WHfd
(D) A
(E) <kl

1 feu o foshedl & & W ST 1 = I
(1) e (A). (B), (C)

2) HAA (B), (C), (D)

(3)  FHFA (C), (D), (E)

4)  (A), (B). (C). (D). (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307218777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose Dishavaci Avyaya lrom the lollowing :
(A)  Abbhitah

(B) Yatah

(C) Paritah

(D)  Dakshinatah

(E) Atah

Choose the comrect answer [rom the options given below :
(1) (B), (C) & (E) Only

(2) (B) & (E) Only

(3)  (A), (C) & (D) Only

(4)  (A)Only

Options :

1.1

2.2



3.3
4.4

Question Number : 114 Question Id : 53307218777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafag o 9 foyment= /=4l =1 =99 St

(A)  3T(9d:
(B) &a:

(C) 9fE:
(D) SI&ford:
(E) @1a:

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1) Faa (B), (C) 3R (E)

(2) Fed (B) 3R (F)

(3) A (A), (C) 3 (D)

4) FAA (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following Jyotrlingas are located in Madhya Pradesh ?
(A)  Ghrishmeshwar

(B) Mahakaleshwar

(C) Nageshwar

(D) Omkaveshwar

(E) Rameshwar

Choose the comrect answer [rom the options given below :
(1) (A) & (C) Only

(2) (B) & (D) Only

(3) (C), (D) & (E) Only

(4)  (B), (C) & (D) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e yeyl § feu sA-g sEfafed € 2

(A) O
(B) HeETERICIYaR
(C) FMTgeR
(D) ST
(E) THIR

A feu T farehedi § | GE ST = HIE
(1) ¥ (A) 3 (C)

(2) e (B) IR (D)

(3) A (C), (D) 3 (E)

4) %9d (B), (C) 3R (D)

Options :
1.1
2.2



3.3
4.4

Question Number : 116 Question Id : 53307218779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Shanti Parva has three sub-parvas namely.
(A) Mokshadharma Parva

(B) VanaParva

(C) Aapaddharma Parva

(D)  Virata Parva

(E) Rajadharamanusasan Parva

Choose the correct answer [rom the options given below :
(1)  (A), (B), (C) Only

(2)  (A), (C). (E) Only

(3) (B), (C), (D) Only

(4) (C), (D), (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307218779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tifue F AT T €1 T E

(A) HiaHH 79
(B) @94

(C) &9 9 9o
D) fawe &

(B) USSR 9el

A feu T ferredl ® | W& ST A =91 il
(1) %9 (A), (B), (C)

2) A (A), (C), (B)

(3) A (B). (C), (D)

4) A (C), D), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307218780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identily the types ol Prarabdha Karma :

(A) Iccha (Personally desired)

(B) Aniccha (withoul desire)

(C) Ciltavritinirodha (Control of Mental States)
(D) Parechha (due to others desires)

Choose the correct answer [rom the options given below :
(1) (A) & (B) Only

(2)  (A), (B) & (C) Only

(3)  (A). (C) & (D) Only

(4)  (A). (B) & (D) Only

Options :

1.1

2.2
3.3



4.4

Question Number : 117 Question Id : 53307218780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR FH oF THRI ol TE= Y
(A) T8I (=AfFTa 9 9§ Af9er)
(B) &A= (3=1 9 q&)
(C) Tamgfafe (wmfaes feufd s feeE)
(D) =BT (37 ) SffemieT & o)
= fqu 7o foskhedi # | WE I kT FIfA
(1) 9 (A) 3R (B)
(2) %A (A), (B) 3R (C)
(3) HFA (A), (C) 3R (D)
@) FFA (A), (B) 3T (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 118 Question Id : 53307218781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“'Kima esa krodha esa rajo-guna-samudbhavah, MahaSano mahapapma viddhyenamiha vairinam.”” This verse
explain

(A)  Asmilk comes in contact with tamrind is transformed mto Yogurt.

(B)  Lust s the greatest enemy of the living entity

(C)  Lust turn into wrath; wrath is trunsformed into illusion and illusion continues the material exislence
(D) One can be saved [rom degradation of wrath by material attachment

Choose the correct answer from the options given below :

(1) (A)Only

(2)  (A) & (B) Only

(3)  (A), (B), (C) Only

@  (B),(C), D) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307218781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T 14 T T G

TERTAI FETae! feagamie oo || 39 el 3 1 a1 2 € 7

(A) T Y YRl % WIS H o &, T <8 § ufiafda @ S e
(B) i aAfireal 1 ST G S G T

(C)  SHTohal Sh1¥ ¥ SEal ¢; hiY § HIewW i ¢ SR Aiey" ¥ wifes afde I ®al ¢
() Torelt &1 sifereh sTmafe 510 1 % 4909 ¥ T S Wb |
2 feu o fosed # W S F1 T FfAU

(1) &9 (A)

(2) 9 (A) 3R (B)

(3) ¥ (A). (B). ()

(4) %ad B), (C), D)

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307218782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identily the objects ol knowledge in sabda pramana :
(A) sell (itman)

(B) mind (manah)

(C) eflort (prayatna)

(D)  attachment (dosa)

Choose the correct answer [rom Lhe optlions given below :
(1) (A) & (B) Only

(2)  (A), (B) & (C) Only

(3) (B) & (C) Only

(4)  (A) & (D) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 53307218782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ise GHIO H FH F IS4l I TeHH R
(A) & (AT
(B) WH9: (HIH)
(C) 99 (99¢7)
(D) eTrafE ()
= feu 7o fasedi # 9 |E S F1 999 FI9
(1) el (A) 3T (B)
2) FFA (A), (B) 3R (C)
(3) e (B) 3 (C)
4) A (A) (D)
Options :
1.1
2.2

3.3
4.4




Question Number : 120 Question Id : 53307218783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In debate on Scriptures tradition, which of the following are true ?

(A) In debate, the only aim is to decide about the truth and lie

(B) The aim is to decide the win and lose

(C)  Question - answer 1s done through prool and Yukt by both the parties
(D)  One side doesn’t establish its theory but only contradicts the other party
(E)  Deceil category (Jiti) and Nigraha places are used.

Choose the correct answer [rom the opltions given below :

(1) (A) & (C) Only

(2)  (A), (B) & (D) Only

(3) (B) & (C) Only

(4) (C), (D) & (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 53307218783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s W # o F fawe § #9-9 0o a €2

(A) - H Fod GI-HE = i e 29 2 B
(B) ¥ 3R W i v F0 2 aa g

(C) o el <t IR | e SR qfe g yeARR S e
(D) T U& 379 T 1 AT Tel el ATq SO T8 H GUeH |1 HIl £ |
(F) o, S iR Frre T 1 91m o < ¢ |
A= feu o faered | Wt I H A9 Hife ;

(1) % (A) A1 (C)

(2) % (A), (B) ¥R (D)

(3) 9 (B) F (C)

(4) %94 (C), (D) 3K (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing would be required as evidence to make an argument that culture in rural Indians 1s intact ?
(A)  Relerto nation wide Surveys conducted by Govl.

(B)  Conduct a survey of households in a few sample villages
(C) Talktoalew neighborhood farming households

(D)  Talk (o a lew agricultural households

Choose the correct answer [rom the options given below :

(1) (A)&B) Only

(2)  (A), (B), (D) Only

(3)  (B), (C), (D) Only

4)  (A)&(C) Only
Options:

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 53307218784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I SR WA % A0 8 T o eq, T H B R 9 o w9 SR B 2
(A) TR g1 T T a1t oA Fa o 1 Tew <

(B) % TaeXel el H ¥R ] Fel |

(©) F3 Wt wfee e § a6 F

(D) F® FH TR G a7 FHE |

e feu o fosred # @ W@ SW H TH Fo
(1) 9 (A) 3 (B)
Q) 3 (A), (B) IR (D)

(3) % B),(C) @ D)
@) I (A) 3R (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the nature of ‘Rama Rajya’ according to Ramayan ?

(A) Evervone in the state are righteous, no one steals and no one lies
(B) Justice is same lor everyone 1.e. rich or poor.

(C) King and people have a dictator lollower relationship

(D)  State 1s Iree ol diseases & sadness

(E) The ruler is concerned about everyone’s wellbeing

Choose the comrect answer [rom the options given below :

(1) (A). (B) & (E) Only

(2) (C) & (D) Only

(3)  (A), (B), (D) & (E) Only

(4)  (B), (C), (D) & (E) Only
Options :

1.1

2.2
3.3



4.4

Question Number : 122 Question Id : 53307218785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 3 STFHR -1 ] S 1 7

(A) T H Hl o STTER FE A §, HIE AR FEl Hal SR P IS Tl aerd |
B) Foft & e I e % ferm =m v que €

(C) TS R S <k oid T AT 3R 35 TR F He4 2 |

D) ¥4 T &R 3@ W H &

(F) Ik Teft Y 9T & o ¥ A g

A9 feu o fosredl ¥ 9 WE SW 1 = Fife
(1) 99 (A), (B) 3R (F)
(2) 9@ (C) SR (D)

(3) A (A), (B). (D) ¥ (E)
4) FEd (B), (C), (D) I (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 53307218786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sages maintain that acts ol should never be abandoned :

(A) sacrilice

(B) attachment

(C) renounced

(D)  penance

(E) charity

Choose the comrect answer from the options given below :
(1)  (A), (B), (C) Only
(2)  (B), (C), (D) Only
(3)  (C), (D), (E) Only
(4)  (A), (D). (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 53307218786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i 1 oA 8 & ST 1 HEMT TN &l FAT =T |
(A) M

(B) ewHfed

(C) HAME

D) qIE

(E) TIIHR

e feu o forpedi ® 9 WE I 1 =94 AT ;
(1) % (A), (B), (C)

2) FFd (B), (C), (D)

(3) 9 (C), (D), (E)

(4) e (A), (D), ()

Options :
1.1
2.2



3.3
4.4

Question Number : 124 Question Id : 53307218787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose ‘pada’ [rom the following options :

(A) Hanh

(B) Karman

(C) Mahan

(D) Pilr

(E) Nadi

Choose the correct answer [rom the options given below :
(1)  (A), (B), (C) Only

(2)  (B), (C). (D) Only

(3)  (A), (C), (E) Only

(4)  (C), (D), (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307218787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



sreiferfaa fasredi § 9 9 =1 991 FHIf9T :

(A) B
(B) FHA
(C) W
D) fog
(B) &1

A feu T ferredl ® | W& ST A =91 il
(1) %9 (A), (B), (C)
(2) wad (B), (C), (D)
(3) A (A), (C), (B)
4) A (C), D), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of *‘Moksha’ means :

(A) Liberation from bondage ol actions (Karma)
(B) Getling re-birth

(C) Liberation [rom the cycle ol buth-death

(D)  Liberation from action (Karma)

(E)  Alttaining Brahma

Choose the correct answer [rom the options given below :
(1) (A), (C) & (E) Only

(2)  (A), (B) & (C) Only

(3)  (B), (C) & (D) Only

@)  (C), (D) & (E) Only

Options:

1.1

2.2



3.3
4.4

Question Number : 125 Question Id : 53307218788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey’ = Heheaar T a1l § -

(A) FHIHA H Hi |

(B) YAsi+ A&

(C) T-9F 9% ¥ G|
(D) H | Hf |

(E) STEIqIe |

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1) FaE (A), (C) 3R (B)
(2) A (A), (B) 3 (C)
(3) A (B), (C) FHR (D)
4) FFA (C), (D) 2R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307218789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Ravidas (T) Disciple of Namdev
(B) Chokhamela (IT1)  Love for Animal
(C) Ramana Maharshi (IIT) Nayanar
(D)  Andal (IV) Spiritual Guru of the Meera Bai

Choose the comrect answer [rom the options given below :
(1) (A)-(IV), (B)-(I), (C)-(IT), (D)-(III)

(2)  (A)-(IID), (B)-(I), (C)-(IV), (D)~(II)

(3)  (A)-(II), (B)-(I), (C)-(IV), (D)-(III)

(4)  (A)-(IV), (B)-(I), (C)-(III), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 53307218789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot - 1 % W19 gt - 11 31 fier ife

Tl - 1 T - 11
(A) Tag™ (1) ¥med & e
(B) =r@me ) 993 % gfa 9w
(C) T Heft (1) TR
(D) e’ (IV) WIRIEE % sAearfcas &

w1 feu U fomredi # 9 9& 3T =F9H FE
(1) (A)-(IV), (B)-(0), (C)-(IT), (D)-(I1L)
(2)  (A)-(I), (B)-TD), (C)-(TV), (D)-(II)
(3)  (A)-AD, (B)y-(D), (C)-(IV), (D)-(III)
(4)  (A)-(IV), (B)-(I), (C)-(III), (D)-(II)
Options:
1.1

2.2
3.3



4.4

Question Number : 127 Question Id : 53307218790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Nyaya Darshan (I)  Acquisition ol Real Knowledge
(B) Mimansa Darshan (IT) Knowledge of sell
(C)  Sankhya Darshan (IIT) Performing Vedic rituals
(D)  Vedanta Darshan (IV) Logical Thinking

Choose the comrect answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)

(2)  (A)-(IV), (B)-(II), (C)-(I), (D)-(II)

(3)  (A)-(IV), (B)-(0), (C)-(IT), (D)-(I1L)

(4)  (A)-I), (B)-(III), (C)}-(AV), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 127 Question Id : 53307218790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot - 1 % W19 gt - 11 31 fier ife

Tl - 1 T - 11
(A) = T (1) Tt FH 1 ST
(B) Hi=igr g9 1) = HTH
(C) HiEd e (1) ofeeh AT 1 SATIeH
(D) &= 39 av) Hafae e

A feu T forredl ® | @& ST A =T Ao
(1) (A)-(D, (B)-(IV), (C)-(I). (D)-(II)
2)  (A)-aV), B)-(ID), (C)-M, (D)-(1D)
(3)  (A)-IV), B)-(0), (C)-(II), (D)-(1II)
@) (A)-(D, (By-(IID, (C)-AV), (D)-()



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307218791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(A)  Yato Dharmastato Jaya (I)  Vaisesika
(B) Abhyudaya and Nihsreyasa (ITy Buddhism
(C) Dasadharma (IIT) Mahabharata
(D) Dhamma (IV) Jainism

Choose the correct answer [rom the options given below :
(1)  (A)-(D), (B)-(I), (C}(IV), (D)-(I1II)

(2)  (A)-(IIT), (B)-(D), (C)}-(IV), (D)-(D)

(3)  (A)-(D), (B)-(III}, (C)-(IV), (D)-(II)

(4)  (A)-(III), (B)-(I), (C)-(IV), (D)-(III)

Options:

1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 53307218791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1 % W9 G - 1 3k 7o it

et -1 et - 11
(A) T EEE S S LULED
(B) #vEa 9 f:99g (1) g o
(C) T Y (1) HRI9Rd
(D) ™ aIv) <9 9o

= Teu T fommedi # 9 W& 3T =9I FHE
(1) (A)-(D), (B)-(ID), (C)-(IV), (D)-(III)
(2)  (A)-(I0), (B)-(I), (C)-(IV), (D)-(I)
(3)  (A)-D), (B)-(II), (C)-(IV), (D)-(II)
(4)  (A)-(III), (B)-(I), (C)-(IV), (D)-(III)
Options :
1.1
2.2

3.3
4.4

Question Number : 129 Question Id : 53307218792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A)  Sastii (T) Living on a Vaikuntha Planet
(B) Salokya (IT)  Merging into Brahman
(C) Sayujya (ITT) Form like of the lord
(D)  Sarupya (IV) Opulence equal to Lord

Choose the comrect answer [rom the options given below :
(1) (A)-(II), (B)-(IIT), (C)-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(ID), (C)-(III), (D)-(D)

(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(IID)

(4)  (A)-1D), (B)}-(IV), (C)-(IIT), (D)-(I)

Options:

1.1

2.2
3.3



4.4

Question Number : 129 Question Id : 53307218792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R - 1o He gl - 1 e e

Tl - 1 T - 11
(A) W= I FFUS ¥ @
(B) W& a1 s H faeia e
(C) WIHA (II1) TR SE1 =&Y
(D) TEH (IV) IR F TER TEY

i fou T fased § | Wl 3T 994 Fifad
(1) (A)-(IT), (B)-(IID), (C)-(T), (D)-(IV)
(2)  (A)-(IV), (B)-(II), (C)-(IIT), (D)-(I)
(3)  (A)-AV), B)-(I), (C)-(IT), (D)-(I1I)
(4)  (A)-(II), (B)-(IV), (C)-(ITI), (D)-(T)
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 53307218793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Senses (T) Bewilderment ol Memory
(B) Lust (IT)  Malenal existence
(C) Delusion (TTT)  Anger
(D)  THusion (TV) Attachment

Choose the comrect answer [rom the options given below :
(1) (A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)
(2)  (A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)
(3)  (A)-(II), (B)-(IV), (C)-(IIT), (D)-(I)
(4)  (A)-0), (B)-(II), (C)-(II), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307218793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % W g - 1 k1 fFerm it
Tl - 1 -11

(A) Ff<A () =fa 1w
(B) HIHERl (1) Aifas Afae
() faym (TI) 3hIY

(D) HEYH (1v) rgfe

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1y  (A)-(IV), (B)-(IIT), (C)-(I), (D)-(1II)
(2)  (A)-(IV), (B)-(TII), (C)-(II), (D)-(I)
(3)  (A)-(I), (B)}-(IV), (C)-(IIT), (D)-(I)
(4)  (A)-(I), (B)-(III), (C)-(II), (D)-(IV)
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 53307218794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - 1 List - II
(A) KamyaKarma (I)  Performance ol action regularly
(B) NitvaKarma (IT)  Performance ol action which is prohibited
(C) Naimittika Karma (ITT)  Fullillment of desires
(D)  Nisiddha Karma (IV) Performance ol action on specilic occasions

Choose the comrect answer [rom the opltions given below :
(1) (A)-(IID), (B)-(T), (C)-(I), (D)}-(IV)

(2)  (A)-(II), (B)-(D), (C)-(I), (D)-(IV)

(3)  (A)-(IID), (B)-(I), (C)-(IV), (D)-(1I)

(4)  (A)-(D), (B)-(IV), (C)-(III), (D)}-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 53307218794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot - 1 % W19 gt - 11 31 fier ife

Tl - 1 T - 11
(A) T EH 1 Trafma 9 9 wE =
(B) Tia = an g & w
(C) Afafaw wd (I11) e 1 gfd
D) Tfrg =d av) o seed w wE w0

i< feu 7o fowedi § | WEl 3T &l 949 HifaT
(1)  (A)-(IID), (B)-(I), (C)-(II}, (D)-(IV)
(2)  (A)-(IIT), (B)-I), (O, (D)-(IV)
(3)  (A)-(III), (B)-T), (C)-(IV), (D)-(II)
(4)  (A)-(ID, (B)-(IV), (C)-(IID), (D)~(T)
Options:
1.1

2.2
3.3



4.4

Question Number : 132 Question Id : 53307218795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A)  Abhidhi (1)  Arthi
(B) Laksana (IT)  Jahat
(C) Vyarijand (ITT) Ksira
(D) Tatparya (IV) Sakvartha

Choose the comrect answer [rom the options given below :
(1) (A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)

(2)  (A)-(IT), (B)-(IV), (C)-(I), (D)-(III)

(3)  (A)-(I), (B)-(IV), (C)-(III), (D)-(II)

(4)  (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 53307218795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % W g - 1 k1 fFerm it

Tl - 1 Tl - 11
(A)  a7fqen M o7edt
(B) &I (I1) Sed
(C) S (1) &R
(D) T4 (1V) e

A feu T forredl ® | @& ST A =T Ao
(1) (A=), B)-(ID), (C)»-I), (D)-AV)
(2)  (A)-AT), (B>-(IV). (C)-(I), (D)-(II)
(3) (A=, B)-(IV), (C)-(ID), (D)-(D)
@) (A)-(IV), B)-(ID, (O)-(I), (D)-(I11)



Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307218796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - 1 List - II
(A)  Suo-moto to both provable and non-provable (I)  Nayayika
(B)  Others to both provable and non-provable (IT)  Buddhist
(C)  Suo-moto to provable others to non-provable (ITT) Sankhya
(D)  Others lo provable; suo-moto Lo non-provable (IV) Mimansaka

Choose the correct answer [rom the options given below :
(1) (A)-(III), (B)-(I), (C)-(IV), (D)~(II)

(2)  (A)-(I), (B)-(IID), (C)-(IV), (D)(II)

(3)  (A)-(IV), (B)-(II), (C)-(I), (D)-(III)

(4)  (A)-(I), (B)-(IV), (C)-(I), (D)-(IIT)

Options:

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 53307218796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1 % W9 G - 1 3k 7o it

TR - 1 T - 11
(A) TR SR YT ST T (1) Harfaes
(B) WMT™ 3R 9 <41 I W (I g
(C) I ! T: STATHIT 81 Ud: (1) A
(D) WYY o] YId: HUHTG i W&d: (IV) HHEE

i fou T fased § | Wl 3T 994 Fifad
(1)  (A)-(IIT), (B)-(I), (C)-(IV), (D)-(1I)
(2)  (A)-(I), (B)-(IIT), (C)-(IV), (D)-(1I)
(3)  (A)-(IV), (B)-(I), (C)-(I), (D)-(I1I)
(4)  (A)-(II), (B)-(TV), (C)-(T), (D)-(ITT)
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 53307218797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Friedrich Nietzsche (I)  Critiquing Christianity
(B) Sigmund Freud (IT)  Master-slave Dialect
(C) Ludwig Feuerbach (IIT) Psycho analysis
(D) G.W.F. Hegel (TV) Nihilism

Choose the comrect answer [rom the options given below :
(1) (A)-(IV), (B)-(III), (C)-(I). (D)-(II)

(2) (A)-(I), (B)-(III), (C)-(II), (D)-(IV)

(3)  (A)-(IT), (B)-(III), (C)-(IV), (D)-(I)

(4)  (A)-(IV), (B)-(II), (C)-(ID), (D)-(I)

Options:

1.1

2.2
3.3



4.4

Question Number : 134 Question Id : 53307218797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R - 1o He gl - 1 e e

o1 e -1
(A) Weftg s M) 3OS o Y arera
(B) famwE e 1)  TETH-Sr YT

(C) e wEEE (TI1)  HATfaeToT
(D) S g U, 2id (1v) -fEars
A feu T ferredl ® | W& ST A =51 il
(1)  (A)-(IV), (B)-(III), (C)-(I), (D)~(II)
(2)  (A)-(I), (B)(II), (C)-(II), (D)-(IV)
(3)  (A)-(ID, (B)-(III), (C)}-(IV), (D)-(I)
4)  (A)-IV), (B)-(III), (C)-(IT), (D)~(T)
Options :
1.1
2.2

3.3
4.4

Question Number : 135 Question Id : 53307218798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) David Frawley (I)  Hitopadesha
(B) Henry Thomas (I1) Four Vedas
(C) Mase Muller (ITT)  Ayurvedic Astrology
(D)  Ralph T.H. Griffith (IV) Aitreya Upanishad

Choose the comrect answer [rom the options given below :
(1)  (A)-(II), (B)-(IIT), (C)-(IV), (D)-(I)
(2) (A0, (B)-(IV), (C)-(I), (D)-(II)
(3)  (A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)
(4)  (A)-(IV), (B)-(1), (C)-(IT), (D)-(I1I)



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307218798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % W g - 1 k1 fFerm it
Tt - 1 Tl - 11

(A) Sfag wEd M fedmew
(B) T 9™y 1) =R e
(C) W TR (1) A Hferd samdy

(D) e A.uE. fafwy (IV) Uad 39S
9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1)  (A)-(ID, (B)-(IIT), (C)-(IV), (D)-(I)
(2)  (A)-(ID), (B)-(IV), (C)-(), (D)-(II)
(3)  (A)-(D), (B)-(ID), (C)-(III), (D)-(IV)
(4)  (A)-(IV), (B)-(I), (C)-(ID), (D)-(I1I)

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307218799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Bharat (I)  Vajrajwala
(B)  Vibhishan (I1) Mandavi
(C)  Shatrughana (TT1I) Sarma
(D) Kumbhkaran (TV) Shrutkiriti

Choose the comrect answer [rom the options given below :
(1)  (A)-(II), (B)-(IIT), (C)-(IV), (D)-(I)

(2)  (A)-(II), (B)-(I), (C)-(IV), (D)-(III)

(3)  (A)-(IV), (B)-(II), (C)-(II), (D)-(I)

(4)  (A)-(II), (B)-(IV), (C)-(I). (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 53307218799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % W g - 1 k1 fFerm it

Tl - 1 Tl - 11
(A) 9Rd M)  eISeare
(B) fasiroo a1 wied
(C) YA (IIT) ||
(D) FYH (IV) gashidl

i< feu 7o fowedi § | WEl 3T &l 949 HifaT
(1) (A)-(IT), (B)-(1ID), (C)-(IV), (D)-(I)
2y (A)-(T), (B)-(I), (C)-AV), (D)-(III)
(3)  (A)-(TV), B)-(IID), (C)-(D), (D)-(T)
(4)  (A)-(II), (B)-(IV), (C)-(T), (D)-(ITI)
Options:
1.1

2.2
3.3



4.4

Question Number : 137 Question Id : 53307218800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Asteya (T) Savitri
(B) Dhih (IT)  Yayau and Puru
(C) Dima (ITT) Pariksita-Samika Risi
(D)  Akrodha (TV)  Yudhisthira- Yaksa Sarmvada

Choose the comrect answer [rom the options given below :
(1)  (A)-(I), (B)-(II), (C)-(IV), (D)-(III)

(2)  (A)-(IV), (B)-(II), (C)-(I), (D)-(IIT)

(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

(4)  (A)-(II), (B)-(IV), (C)-(I). (D)-(III)

Options:

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 53307218800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % W g - 1 k1 fFerm it

Tl - 1 il - 11
(A) HEF (T  wifest
(B) : (I1) Jarfa & g%
(C) <™ (T11) 9ifeEa — gHie B
(D) 3TRIY (1v) Ifghet - g8 HaK

A feu T forredl ® | @& ST A =T Ao
() (A)-0), B)-(ID), (C)-AV), (D)-(IID)
@) (A)-OV), (B)-(D), (C)-(I), (D)-(II)
(3)  (A)-IV), B)-(0), (CO)-(II), (D)-(1II)
@) (A)-(D, (B}-(IV), (O-(D), (D)-(ITD)



Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307218801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A)  Draupadi (I) Kaurvya
(B) Ulupi (ITy  Satrajit
(C) Satyabhama (TT11) Adishesha
(D)  Sulocana (IV) Drupada

Choose the correct answer [rom the options given below :
(1)  (A)-(IV), (B)-(IT), (C)-(I), (D)-(III)

(2)  (A)-(IV), (B)-(III), (C)-(I), (D)-(II)

(3)  (A)-(IV), (B)-(ID), (C)-(III), (D)-(T)

(4)  (A)-(IV), (B)-(I), (C)-(IT), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 53307218801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1 % W9 G - 1 3k 7o it

T - 1 = - 11
(A) BE9el (I) A
(B) eIl (I1) G
(C) FHYM™I (1) sTfesm

(D) el (IV) §9%
A feu T ferredl ® | W& ST A =51 il
(1) (A)-(IV), (B)-(ID), (C)-(I), (D)-(III)
(2)  (A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)
(3)  (A)-(IV), (B)-(II), (C)-(TIT), (D)-(T)
(4)  (A)-IV), B)-(T), (C)~(ID), (D)-(I1T)
Options :
1.1
2.2

3.3
4.4

Question Number : 139 Question Id : 53307218802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Mahesvarah (I)  Yan-Sandhi
(B) Punasca (IT)  Jastva-Sandhi
(C) Svigatam (ITT) Guna-Sandhi
(D)  Vigi§vari (TV)  Scutva-Sandhi

Choose the comrect answer [rom the options given below :
(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

(2)  (A)-(D), (B)-(IV), (C)-(1), (D)-(I1D)

(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(IID)

(4)  (A)-), (B)-(ID), (C)-(IID), (D)-(IV)

Options:

1.1

2.2
3.3



4.4

Question Number : 139 Question Id : 53307218802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R - 1o He gl - 1 e e

Tl - 1 T - 11
(A) R @  Fu-Ef
(B) Ti¥d (1) Sy
(C) &R (IT1)  TorEf=
(D) =miveR (V) TecaHi

A feu T ferredl ® | W& ST A =51 il
(1) (A)-(II), (B)-(IV), (C)-(D), (D)-(II)
(2)  (A)-(II), (B)-(IV), (C)-(I), (D)-(III)
(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(I1I)
(4)  (A)-(I), (B)-(II), (C)-(IIT), (D)-(TV)
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 53307218803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Karun Ras (T) Anger
(B) Bhibats Ras (IT)  Enthusiasm
(C) Raudra Ras (TIT) Sorrow
(D) Veer Ras (IV) Abhor (Jugupsa)

Choose the comrect answer [rom the options given below :
(1) (A)-(T), (B)-(III), (C)-(I), (D)-(IV)
(2) (A0, (B)-(IV), (C)-(I), (D)-(II)
(3)  (A)-(IID), (B)-(IL), (C)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(III), (C)-(II), (D)-(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307218803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<1 1
(A) REUT TH 1) ™
(B) ®veH a1 e
(C) Ug ™ (I11) ¥k
(D) @™ V) ST

= feu U faspedl § 9 WE 3T & 999 Hifa
(1y  (A)-(I), (B)-(III), (C)-(II), (D)-(IV)
(2)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)
(3)  (A)-(IID), (B)-(ID), (C)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(III), (C)-I), (D)-(I)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072735
Question Shuffling Allowed : No

Question Id : 53307218804 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer the questions.
Remember Max Muller : The man employed to create a distorted translation of the Vedas.

Max Muller one ol the founder of the weslern academic lield ol India studies believed that it would be
Indians fault if Christianity didn’t step in.

He quoted, *India has been conquered once, but India must be conquered again, and that second conquest
should be a conquest by education.

According to letter which Muller wrote to his wile it has revealed that he was especially employed to
ranslate the Vedas in such a way that the Hindus lose faith in them,

He translated the Upanishads for Schelling, and research on Sanskrit language.

Muller published the complete Rig Veda n Sanskrit using manuscripts available in England [ound in the collection
of the East India Company.

He strongly believed in the need for reforms in Hindu's in order to superimpose views of Christianity on
them.

Under his guidance, the British empire [unded a huge sum of money [or education reforms, in India muller
wrote,”

""The translation of the Veda will hereafter tell to a great extent on the [ate of India, and on the growth of
millions of souls in that country. It s the roots of their religion, and Lo show them what the roots 1s, of [eel sure,
is the only way ol uprooting all that has sprung {rom it during the last 3000 years Once ought to be up
and doing what may be God's work.

[nhis *“What can India teach us ? Lecture at University of Cambridge he said,” If T were to look over the
whole world to find out the country most richly endowed with all the wealth, power, and beauty that nature can
bestow - 1n some parts a very paradise on earth - I should point to India.

Sub questions

Question Number : 141 Question Id : 53307218805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Max Muller was [amous ?
(1)  Ttalian scholar

(2)  Frenchscholar

(3)  English scholar

(4)  German scholar

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307218806 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Max Muller believed that the God’s work can be done by :
(1)  Uprooting Vedic knowledge

(2)  Teaching of Bible

(3)  Funding Poors

(4)  Social upliltment of India

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307218807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Max Muller the best way o deleal India was :
(1)  Spreading of Christianity

(2)  Relormation ol Education

(3)  Deleating Scriptures

(4) Creating Labour Class

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Max muller realised that the country that 1s most richly endowed with all the wealth, power and beauty that nature
can bestow 1s :

(1)  Great Britain

(2)  Germany

(3) India

(4)  Switzerland

Options :
1.1
2.2
3.3



4.4

Question Number : 145 Question Id : 53307218809 Question Type
Correct Marks : 2 Wrong Marks : 0

Muller wile knows that muller translate Vedas to :

(1)  Spread Christianity in India

(2)  Spread Vedic knowledge in Wesl
(3)  Please Queen of Great Brilain

(4)  Earn livelihood for their family
Options:

1.1

2.2

3.3
4.4

: MCQ Option Shuffling : No

Question Id : 53307218804 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307218805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ho Hor T8 forw gfag o ?
(1) et fogm

2) W= fagH

(3) U fage

4y =4 fagm

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307218806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T ger 1 favarg o foF Svav & il i 3% gr o s wepan 82
(1) <fcF IH A S T gA FF |

Q) Rea fa foren T

(3) TRIEl o ST HEg W F |

(4) YRl 1 G fTH™ T F |

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 53307218807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
o o & STIAR, WRA I WIS H Gay ST 7
(1) 398 ¥ =1 forem
2) Toran § guR
(3)  EW-Tee} I fawe
(4)  4ffek = = TR FH
Options :
1.1
2.2

3.3
4.4

Question Number : 144 Question Id : 53307218808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o o 9 7 WeqH fora 6 7 <9 4, Wi W e ey et et W W feer Wi §
$

(1) W fyA

Q) S

(3) W

) fafade

Options :
1.1
2.2



3.3
4.4

Question Number : 145 Question Id : 53307218809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeR i il I STl ot foh TR 35 &1 9.
(1) 9Rd ¥ SHEYH F1 ¥91 F €

2) ufvem ¥ afew 6 1 for = 8

(3) U2 f5reA K1 HETHl g A o

(4) =99 GRER = FATsitae sifsd & 2q

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 533072736
Question Shuffling Allowed : No

Question Id : 53307218810 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions,

The Ashramas or stages in life are four Viz. Brahmacharya, the stage of studentship, grihastha, the stage of
householdership, Vanaprastha, the stage of forest-dwelling or seclusion, and sannyasa, the order of total renunciation.
Each order of life has its own duties.

Brahmacharya is a period ol formal education during which he learns the skills of life prepares for his
[uture profession, as well as for his [amily, and Social and religious life ahead.

The grihastha begins from marriage. In this period one must undertake the responsibility for eaming a
living and supporting a family.

The Vanaprastha stage is on of gradual withdrawal. The person’s duty as a householder comes to an end.
All this age he should retire from his Social and prolessional life and spend his time in prayers.

The Samnyasa Ashram 1s one of renunciation and the realization of dharma. It this stage, a person is
supposed Lo be (otally devoted lo God. All his worldly ties are broken, and his sole concern becomes altaining
moksha or release from the circle of birth and death.

Sub questions



Question Number : 146 Question Id : 53307218811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which stage a person is tolally devoted to God ?
(1)  Grihasth Ashram

(2)  Vanapratha

(3) Brahmacharya

(4)  Sannyas

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pravritti dharma deals with

(1)  Brahmacharya

(2)  Grihastha & Brahmacharya
(3)  Vanaprastha and Sanyas
(4)  Gnhastha

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Sri Krishna, Varna Ashram is divided on the baris ol ;
(1)  Svadharma and Jati

(2)  Jati and Guna

(3) Guna and Karma

(4)  Jat and Karma

Options :
1.1
2.2
3.3



4.4

Question Number : 149 Question Id : 53307218814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In stage, one has no lixed abode.
(1)  Vanaprastha

(2)  Grihastha

(3)  Sannayasa

(4)  Brahmacharya

Options:
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307218815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which stage ol life person detached from his routine work ?
(1)  Brahmacharya

(2)  Grihastha

(3)  Vanaprastha

(4)  Sannayasa

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218810 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307218811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T =0 # wsk =afe qoia: $veR R amfia e § 2

(1) e HH
(2) dHAYH
(3) wEEE
(4) HIW
Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 53307218812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



v o 1 Hay

(1) sEEE

2) TEEY AR T
(3) SFYEY Ue Y
(4) TR

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 53307218813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frFon & STTAR Ivf w9 3 emur W faafem 272

(1) Eyd ug wfa
(2) S SR W
(3) TS FH

(4) Sfq 2R =Fd
Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307218814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H %y fAfv=a fam 7@ a1 g
(1) <Y
2) T
(3) HEI™H
4) wEEE
Options :

1.1
2.2



3.3
4.4

Question Number : 150 Question Id : 53307218815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sirad % fopg =eu o safag srq Ot #iEl § e 81 S 2 ?

(1) e
2y T
(3) dFYH
(4) HI™
Options :

1.1

2.2

3.3

4.4





